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19. 'Which row correctly shows the degree, the coefficient, and the constant term in the

expression shown above? ConslenT is
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The diagram below is a model of a polynomxal eXpression. 2
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‘ 37. Which of the following rows correctly describes the modelled polynomial expression?
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29, Which of the follgwmg pan‘s of expressions represents like terms?
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7. Which of the following expressions represents the solution to the model shown above?
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The diagram below shows an incomplete model of the multiplication of two polynomials.
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Which of the following polynomials represents the unknown expression in the model
shown simse?
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